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SECTION-A

Q.1 Attempt all parts carry equal marks. Write answer of each part in short.                (2x5=10)                                                                           
A. Write a mode of operation of power system.

B. Draw the structure of power system network.

C. How voltage stability can be improved?

D. What is the purpose of  load forecasting?

E. A generating station has a maximum demand of 30 kw if has a connected load of 60 kw. The annual generation of units is 20x 105 kwh. Calculate the load factor & the demand factor.

SECTION-B
Note: Attempt any five questions from this section.                                                             (5x5=25)

Q.2 Define SCADA. Explain the components and common features of all SCADA systems.
Q.3 What do you mean by 'voltage stability' in power system environments?
Q.4 Explain the importance of Load curve and draw the daily load curve.
Q.5 Illustrate the various security levels of power system.
Q.6 What are the techniques for the solution of the unit commitment problem?
Q.7 Discuss role of national load dispatch centre of power system operations.
Q.8 A generating station has the following daily load cycle: 
	Time(Hours)
	0-6
	6-10
	10-12
	12-16
	16-20
	20-24

	Load (MW)
	20
	25
	30
	25
	35
	20


Draw the load curve and calculate- (1) Maximum Demand (2) Units generated per delay day (3) Average Load 

(4) Load Factor
Q.9 Describe role of information technology in EMS(Energy Management Sytem).
SECTION-C
Note: Attempt any two questions from this section.                                                            (7.5x2=15) 

Q.10 With the help of block diagram classify various SCADA configurations.
Q.11 The fuel cost of two generating units is give  
                                F1 = 700 + 40P1 +0.01P12 Rs/hr 
                                F2 = 200 + 35P2 + 0.02P22 Rs/hr
 The generating limits are 50MW<P1<250 MW ; 40 MW<P2<550 for a total load of 750MW, calculate the optimal dispatch solution:- (a) without considering generating limits. (b) consider generating limits.
Q.12 Elucidate various operational stages of a practical power system with the help of neat diagram.
